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IR - LLRAARKRERE
ROUND1-G1
JEAE 4 Hi & ¥4 TEC | ATH Total
1| &R (el W - R 5 04) 68 =— XA R 17.22| 7.44 24. 66
2 |RAk B ONUVSIIPN & == 8 JINT 7 17.36| 7.20 24. 56
3 |HEET N (TEER - PBEE FRAR) 8 JINT 7 16.80| 7.02 23. 82
4 |BE B (R B - B30 8 I NN T 7 15.54| 6.66 22. 20
5 |&EH  KEE (P - BER) 30 =K 15.26 | 6.54 21. 80
6 |IEAE BEA (&L - RS2 B 30 T 15.40| 6.36 21.76
7 (MR 5 CEriey % - EIRE —) 7T —r3q 14. 84| 6. 42 21. 26
8 M il CRTIR IR - B —) 68 =— AR 14.56 | 6.30 20. 86
9 |HEE (WEAR YR« S0 s R R [ ) 8 JNNT 7 14.56 | 6.24 20. 80
10 [ K— (FKH R« RN HR) 6 E—Hr 14.56 | 5.94 20. 50
11 ['FE Ho CRUBRIRT - RS 3 ) 32 VA 13. 44| 6. 12 19. 56
12 [+ A (T IR - JRSZIFY) 48 Ny A XA 12.60| 5.52 18.12
ROUND1-G2
NEAZ 4 Hi & ¥4 TEC | ATH Total
1 [B5 ARk (PR IR - el 25) 8 I NN T 7 17.78] 7.26 25. 04
2 % et (PR - O R I B AR ) 8 JNNvT 7 17.22 7.20 24. 42
3 RN R (REPIR - AR —) 8 JNNvT 7 16.66 | 6.96 23. 62
4 |RA IR CeErg iR - AAEBE) 8 J NN T 7 16.10| 6.72 22. 82
5 |HG (RIS« AR R E A4+20) 68 =— AR 15.40 | 6.48 21.88
6 |FHERE  ORER (e W« JETUN = ) 24 U wvay 15.40 | 6.48 21.88
7 |AhlE B (Ab¥fiE - ALvEE SR ) 68 =— AR 14.70| 6.48 21.18
8 |EH 5 (BRI « RS H) 48 Ny A XA 14. 42| 6.30 20. 72
9 |49 b5 (@ e I - AR ) 68 —=— XA R 14.00| 6.18 20. 18
10 [Tl KRR (AL - ST HRFT3E) 48 Ny A XA 13.86| 5.88 19. 74
11 |fBA K (ZEW + RS20 A ) FEME 0.00 | 0.00 0. 00
11 A B (TN - Ear) FEME 0.00 | 0.00 0. 00
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ROUND1-G3
JEAE 4 Hi & ¥4 TEC | ATH Total
1 [& k&R URE B - RS2 35m) 68 =— XA R 17.36| 7.44 24. 80
2 |BER WEHE (BERG IR - RN I P 2E) 30 T 16.94| 7.44 24. 38
3 |EAT A (A B - &K 8 I T Ty 16.80| 7.26 24. 06
4 (k2EF R CHROCER - fH: A2 ) 32 VA 16.52| 7.02 23. 54
5 |k R (LR - &mhdE—) 8 JINT 7 16.38| 6.96 23. 34
6 |FFH A (Bl « RNAAR LA ) 68 =— XA R 15.82| 6.72 22. 54
TR EBT (KR53 IR« WL RSG5 ) 8 JNANLT 7 15.40 | 6.54 21.94
8 |&)II Fnid G I P NE S (1) =F Ty 30 = 15. 26| 6.60 21. 86
9 |&E 1FD L& CAIER « /MR RR) 68 =— AR 15. 12| 6. 42 21. 54
10 (BB g (BHn R - RrE) 68 =— XA R 14.00| 6. 18 20. 18
11| 2R (Rl I - KRy HAK) 30 = 14. 14| 5.88 20. 02
12 [WAK 2 CaFR - RyLZEA) 14 Fr v 13.30| 5.64 18. 94
ROUND1-G4
NEAZ 4 Hi & ¥4 TEC | ATH Total
1 |JFE = (B £ - B ER) 68 =—/ AR 17.78| 7.50 25. 28
2 |/l FEAEA (FRZI B« e R ARARR) 68 —=— XA R 17.50| 7.44 24. 94
3 |rhH IR (FEJL I - BASEHI ) 57 A= F v 15.82| 6.78 22. 60
4 (B0 R (I B U - 5 36) 8 J NN T 7 15. 26| 6.60 21. 86
5 |EifE AR (LU - RN R ) 68 =— AR 15.26 | 6.54 21. 80
6 |t o (REARBR « JUM 22B5E) 24 U wvay 14.70| 6.48 21.18
TR HEED (fE IR - dbke) 14 Frhv 14. 84| 6.30 21.14
8 |&HE &t (FRARE - sLalebeie %) 30 = 13.58| 5.82 19. 40
9 |KAE MR Ry B« RN RS ) 30 = 13.16| 5.64 18. 80
10 |t fkiE (B IR - RSLRERT) 68 =— AR 13.02| 5.58 18. 60
11 |&fE = (IR« BN @ T36) 6 t—H 13.02| 5.58 18. 60
12 |8 Tk (RRE - BB ESLAE) FEME 0.00 | 0.00 0. 00
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ROUND1-G5
JEAE 4 Hi & ¥4 TEC | ATH Total
1|5 i (RBRFF + JR3H) 8 JINT 7 17.64| 7.44 25. 08
2 |ZEhR 4T (FRZ B - BRI ) 30 =2 16. 38| 7.02 23. 40
3 E (RIS = 7K 30 T 16.24| 7.08 23. 32
4 |ARH i (REARIR « JUMZ2B5E) 68 =— XA R 15. 82| 6.60 22. 42
5 |w0 E (LR - &mhdE—) 8 JINT 7 15. 68| 6.72 22. 40
6 |+ FEHE (N - mfah ) 8 JINT 7 15.40| 6.36 21.76
(S CEr Iy - B IRE7E) 68 =— XA R 15. 12| 6.60 21. 72
8 | K& HE=HB ORI - RS2 3%m) 68 =— XA R 14.98 6.30 21. 28
9 |IiH B— (el B R« 1l B T35 1 5 B P 4% 68 =— XA K 14.56 | 6.54 21. 10
10 |FEHE A RHD (FFARW - BSLILH) 30 =2 14.00| 5.82 19. 82
IBEN [ SVUNTE VN CER - Alay) 68 =— XA R 13.72] 5.94 19. 66
12 [#k pEdr (P R - WKk A) 68 =—/3A R 12.60| 5.40 18. 00
ROUND1-G6
NEAZ 4 Hi & ¥4 TEC | ATH Total
1 [EA BA (THEUR - HRFERFALIE) 30 = 16.94 | 7.32 24. 26
2 |l & (ol - RN R H) 68 =— AR 16.80| 7.02 23. 82
3 |MHH HE (WEARYR « 30 R R B ) 30 =t 15.82 6.90 22.72
4 |EE B (REFIR - AR, 1) 30 =2 15.26| 6.60 21. 86
5 | % (fm [ e - AR ) 68 =— AR 14.84| 6.72 21. 56
6 |ciE e (AbifiE - AbviE A E ) 30 =2 14. 84| 6.54 21.38
TR W (R IR - R SZARITEE) 68 =— AR 14. 84| 6.36 21. 20
8 |A% JShFE (K3 B « BN RS mE) 8 I NN T 7 14.70] 6.30 21. 00
9 /A R CAIER - /MR RR) 30 = 13.86| 6.06 19. 92
10 Al BR (ZHnI - ) 68 =— AR 13.16| 5.76 18. 92
11 [IF ERA (AU - BITEER Y 30 = 13.02| 5.58 18. 60
12 /NP kR (gl - RANLRE) FEME 0.00 | 0.00 0. 00
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ROUND1-G7
JEAE 4 Hi & ¥4 TEC | ATH Total
1 [RE Mo (BERS IR - RSZATHE 136) 24 h Ay 17.50| 7.32 24. 82
2 |t&EEECH: (el U - 055 04) 68 —=— XA R 17.36| 7.38 24. 74
3| ImAk (PRI - BRSZIHIR) 8 I NN T 7 15.82| 6.78 22. 60
4 e 2= (LR - &mhiE—) 8 JINT 7 15. 40| 6.60 22. 00
5 |4 & (fE IR - RSB 13) 30 T 15. 12| 6.48 21. 60
6 | KB (s oy I = 1)) 8 JINT 7 14.70| 6.36 21. 06
7T O[E R (B B - @&k) 8 JINT 7 14.42| 6.18 20. 60
8 | Ao (AR - ST HRF 5 —) 68 =— AR 14. 28| 5.88 20. 16
9 |EHK #WE (e - FER) 48 Ny A XA 14. 14| 6.00 20. 14
10 [f@H  EH (RER - KBRS 68 =— XA R 14.00| 6.00 20. 00
11 (#H ok (fEE IR - RN AL 68 =— XA R 13.44| 5.70 19. 14
12 |EfE s CaFWR - R —) 17—y 7— 13.02| 5.40 18. 42

ROUND1-G8
NEAZ 4 Hi & ¥4 TEC | ATH Total
1 BE E (B ER - BER) 8 JNNT 7 17.36| 7.50 24. 86
2 |BuE (CHROCER - fH A7) 8 JNNvT 7 17.22 7.32 24. 54
3 |RAR E—RE (R« B0 F 1) 30 = 17.08| 7.32 24. 40
4 |ETF e CRUBRIR - RS #E ) 8 I NN T 7 16.52| 6. 72 23. 24
5 | P #f (=R - S0 T3 % M 520 30 =K 16.10| 6.96 23. 06
6 | RPE (FIERR LR« 3T SR B T ) 30 =K 15.96 | 6.96 22.92
(Il (FAH R« JRSZRKH T36) 8 JNNvT 7 15. 68| 6.60 22. 28
8 |REES  FiN CHris I« #R) 68 =— AR 14.98| 6.54 21. 52
9 |fEn KB (RRF U+ B NEA R AR) 30 = 14.56| 6.06 20. 62
10 (1A R (BRI - RS MRTPEREE TR |7 B—A 13. 72| 5.82 19. 54
11 (A K& (RSB« RNEK 30 48 Ny A XA 13.44| 5.70 19. 14
12 | B3 B2 (BEIREIR - BIREE—) FEME 0.00 | 0.00 0. 00
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ROUND2-G1
JEAE 4 Hi & ¥4 TEC | ATH Total
1 =t & (el W - R 5 04) 76 A—/8— 1 g 17.64| 7.56 25. 20
2 [EE mst (PR IR - PR R I B SRS 81 7—F v 17.22] 7.44 24. 66
3 |1AE (R B - B30 80 /A 7 — 17.221 7.32 24. 54
4 [RRk B ONVSIIPN & == 81 7—F v 17.08| 7.38 24. 46
5 |B K (PRI - i =) 9 A—sX—=Y g 15. 68| 6.84 22. 52
6 |fHET 0 (TEER - PBEE FRAR) 9 A==V g 14.98| 6. 42 21. 40
ORI (REFIR - AR —) 9 A—sX—=Y g 13.72| 6.00 19.72
8 | ARKS ZEIR CEr i - AAESEBE) 9 AR— %Y iy 13.58| 5.82 19. 40

ROUND2-G2
NEAZ 4 Hi & ¥4 TEC | ATH Total
1 [BER BEA (BRI - RS RIR G 2E) 86 WA 18.34| 7.98 26. 32
P INTER 2 §-/ (FRZI B+ e R ARARR) 76 A—r8—1) iy 17.92] 7.74 25. 66
3 |EPAT A (A B - &K 81 7—F > 17.64| 7.62 25. 26
4 (k2EFr B (HRORCER - fH: A2 33 V—F v 16.80| 7.32 24.12
5 L W= (B £ - B ER) 76 A—s8— 1 iy 16.52| 6.96 23. 48
6 |fH (FEJL IR - BASEHI ) 83 SN—F—L 16.24| 7.08 23. 32
To|B KEE ORI - VRS2 350) 76 Z—r8— 1) iy 15.96 | 6.84 22. 80
8 &0 i (I B U - 5 36) 9 R— %Y iy 15. 82| 6.90 22.72
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IR - LILRE ARSI E
ROUND2-G3
JEAE 4 Hi & ¥4 TEC | ATH Total
1 [Em| & (FeE I - RS RH) 83 N—TF—L 17.36 7.32 24. 68
2 |5 i (RBRFF + IR 81 7—F v 16.80| 7.38 24. 18
3 E (RIS = 7K 36 IVayvRYay 16.52| 7.20 23. 72
4 AR BA (TEER - IR L) 38 T A— 16.10| 7.08 23. 18
5 |fHH S (AR« T8 = R [T I8 36 IVa TRy ay 16.24| 6.78 23. 02
6 |AH & (REARIR « JUM Z2B5E) 84 Fy X Y7 —H27—|15.68| 6.84 22. 52
7 [EEIR MTE (FRZ B - BRIEAI ) 38 T A— 15.12| 6.60 21. 72
8 |HE £ (REFIR - IRAKR - ) 36 AVayVRYay 14. 42| 6.30 20. 72
ROUND2-G4

NEAZ 4 Hi & ¥4 TEC | ATH Total
1BE E (B ER - BER) 81 7—F v 19.32| 8.16 27. 48
2 |KE W (BERS IR - RSZATHG 136) 38 A 18.62| 7.86 26. 48
3 |BuE (CHROCER - fH A2 9 R— 3=l g 17.78| 7.74 25. 52
4 |#EmEE ECH: (el U - 05 74) 84 Fy Y7 —Hr 7 —|17.50| 7.50 25. 00
5 [RA E£—88 (R« B0 F 1) 38 UL A— 16.52| 7.14 23. 66
6 |k [EAL (PRI - JRNZTH) 9 R— %Y iy 16. 38| 6.90 23. 28
T hE %E (& R - & s —) 83 N—TF—1L 15. 68| 6.72 22. 40
8 |HT i CRUBRIR - RS #E ) 81 7—F v 15.12 6.54 21. 66
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ROUND3-G1
JEAE 4 Hi & ¥4 TEC | ATH Total
1 =t & (it U - B S579) 83 SNR—F—L 17.78| 7.62 25. 40
2 |RHEC BB ONUVSIIPN & == 9 A—sX—=Y g 16.94 | 7.32 24. 26
R VNI 2 N ¥ (FRZR B« e R ARARR) 81 7—F v 16.52| 7.26 23. 78
4 |EE Est (e IR - B R Al ) 9 A= =Yg 16.38| 7.14 23. 52
5 |2 ihEE CHROCER - fH: A2 3 AV 2 YTRTA 15.96 | 6.84 22. 80
6 |BER HEE (BERR IR - RS RIR G 3) 38 U A— 15.82 6.90 22.72
7 |AE B (B - B30 9 A—N—=U g 14.98 | 6.54 21.52
8 |EFAT A (A B - &K) 9 R g 14.70| 6.36 21.06
ROUND3-G2
NEAZ 4 Hi & ¥4 TEC | ATH Total
1BE E (B £ - B RS 83 N—TF—1L 19.18| 8.16 27.34
2 |EW (RIS = 7K 86 B A 18.20| 7.92 26. 12
3 |5 i (RBRJFF + IR 9 R—s— 1 g 17.64| 7.68 25. 32
4 |ARE MR (R IR - RRSZAIE 136) 36 AVayVRYay 17.50| 7.50 25. 00
5 W & (ol - RN R H) 84 FxH Y77 —%r s —|17.50| 7.38 24. 88
6 |#EAE ECH: (] U2 - FE S5 79) 83 N—TF—1L 16.94| 7.26 24. 20
7 |BuE (CHROCER - fH A7) 81 7—F v 15.96 | 6.90 22. 86
8 A BA (THER - PRIERFHIBE) 36 AVayTRYay 15. 82| 6.90 22.72
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BRONZE-G1
JIEAE 4 Hi B ¥ 4 TEC | ATH Total
1 [RAk EER (KRB + Ks2%) 83 NR—F— 1L 17.50| 7.68 25.18
2 |5 (CRBRIT - 1REH) 83 NR—F— 1L 17.22] 7.32 24. 54
BRONZE-G2
JIEAE 4 Hi B ¥ 4 TEC | ATH Total
IR =27 (R - 7K3R) 31 Hohr 17.92| 7.80 25. 72
2 /N FRIREA (P21 IR« 622 R AR AR 84 Fx X Y7/ —Hrr—]|16.52| 7.38 23.90
GOLD MATCH
JIEAE. £ Hi B B 4 TEC | ATH Total
1 [FkE B (FER - #HE%) 9 A— 8—Y Ly 17.64| 7.38 25.02

2 |=H R G o) .« B35 7)) 81 7—F 16.80| 7.68 24. 48




